FHSFE £ B 7 F ¥ E X S| BT B A fR/NEAR (4 A 1 B H41T) 2023/6/7
10A1TE 11 AT 12A17% 1A17T% 2R1TE 3R1TE
1| B |[AF47avra—iL7- 1| K 1| & |AT®) RESEAS® Jvit 1| A |txmrRe] TR £Hoka 1| K |F1EEAFRRAS 1| & |ZFA(Z&RE) Tuie ALT(R)
2| B [mame 2| & |[EEEE] REEASY 2| 2 | & |tpsmrE) #pona 2| & e o ke 2|
3| K [8& ALT(F®) 3| £ |[xtkoBE 3| B |[AF47avrOo—LT— 3 | K |(mEFR] FHOKE 3| 3| B [#T47avba—LT—
4| K 4| = 4| A 4 | K |eeseara) 4| B |[r747avra—L7— 4| B
5| K 5| B [#F47avto—L7- 5| Kk |E&dERERR) 5| & 5| A [ruChHBwFries 5| & |Dkmemsie] me (NER)
6 | & |7Vt ALT(FED 6 | B |VroRiReRFHA 6| K 6| 6 | N |E=(EE 6 | 7K |(xnEEsiE]
7| x 7| K [BE(hPERRK) ALTRER) 7| K [CRIOE-4-8) 7| B |sEErEsoosn 7| K (i) 71K
3| | 8| % 8| & Araumms 8| B |[#roa 8| & 8| % [AT® Jui
9| A [rf—vor 9| XK 9| 9| X 9 | £ |AT(R) Tuit BPREQ 9| £
10| ik |HHESERI~HRHBERT I k%)~ 28 NPS ??jﬁ;’ E%I 557 ALTCRRED) 79ik ol B 10| % il 2= ol B
1| K 1| £ 1| A 1| K 1| B |gER&0R 1| B
12 K 12| B |AIPEBEALMIEATAS 12 X 12| £ 12 B |[{R&H*A 12| K |6F&z%dR
13| & |FEBARG DL ATCED 13| B 13] % 18] + 18] % 13] %
14| £ 14 X (M2 (EE) ALTERR) 14| & 14| B8 14| & 14| &
15| B 15| % 15| & (BEIBCD o) owie 15| A 15| K |BEREHALERAS 15| & (M, FREVRATRER
16| B |aTre 16] & 16 £ 16| 4 [ompsmst Bikmm(C) 16| & [ pALERRS REZAL0 16| =
18| K |¥ERERLREE 18| £ 18| A 18| K 18| B 18| A |#RARET KBk %R
10| % 10| B 10| % 19| & |SHE REBREG vl FRERIIER 10| B 10| % @141 mEgwaEst
20| & [7viE ALT(FED F 24—LREBIO® 20| A 20| K 20| 20| X (W (®E) BEEIE) 20| K [EH0BE
21| £ 21| & [ALT(FE) 21| K 21| B 21| K |s®mE @) 21| &
2| B |[eReEnEs 22| X |smE @ 22| & |[x@k ALT(2) Tuit 2| A 22| K [BEA®) ALT(®) 22| & |(emmEE] BTR-BER ALT(D)
23| A |EEtza 23| K |[pHEson 23| + 23| K |[#a®EE 23| & |xzs£R 23| &
24| K (BRI ATF® 24| & (SRECD ATST T 24| B 24 5k 24| 24| B
25| % 5| + 25| B [emess 5| K |sthananzs 25| 8 | |l f b
26| K [#2R%¥E, 4 26| A 26| X |ZFtRE(~1/15) 26| & |[kEFEEXRE Tvik ALT(S) 26| A 26| K
27| & (B e 27| A |smEU® 27| % 27| L |[MBETRMT AR Ny — K& 27| k |REwa 27| %
28| L |SIEEETAET=RT4/500 28| K (%G ALTCRH) 28| & 28| B |[MEBETECOFAR AT —ARFHE 28| %k 28| K
29| B |SIBAEIETI=RT 1750 29| 5k 29| £ |EkotkE [$KREAFE] 29| A |[EEuxs 29| A& |Bk#rat 2| &
30| A 0| & 30| + |skotkE (HrEFE] 30| Kk (@ 30|
31| x |ATEm 31| B |#kotE (ErEFE] 31| K |BksrEt 31| B
% %% %% %% %% %




